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Dr. Salih FADIL ! Januar P
#1) Event occurs according to Pmssonprcicesswlth rate A =10 perhour. =~ S
- a) What 1s the probability that 8 events occur in 45 minutes? | Ly
b) What is the probability that the nmé between the 2" and 3”’ eVentS blgger than six
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minutes? P o e e

¢c) What is the probability that the 6™ event occurs before the 50f”. min ‘ut _;_ B N R )
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#2) The lifetimes interactive --'compuiéi‘ ~chips produced by a  certain semlconductor PR
manufacturer are normally distributed with | hours and & =3x10°

parameters pu=1.4x10° _ _ _
hours. What is the approx1mate probabtllty that a batch of 100 chlps W111 COntaln' at least 20

whose lifetimes are less than 1.8x10° hours? _,:’-'

#3) Probability density function of a continuous random variable X is given as follows.
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- a) Calculate a bound for P(‘ '——100| < 80) O i o o

o) Caleulte the exactprobabity.

c) Are the exact result and the bound conformmg‘? I
#4) Consider the system given in the ﬁgure The -s'ya't“efh’fwo'rka if there"'.gls' at least one path -~

L " - - . - -
L B . . . . L =t

consisting of workmg components between. 1ts input and output Assuime that all compone“nts ey Y

in the system functiong independently and workmg probabll ty of each’ device is p=0.8. .
Calculate the probability that the system works. B - _J-_ RN
Hint: Try to find the system's working probability conditioning on device 3 R, B

[N i A - P A . , LY
- r .:-\. = - ) .';'v. S ® f r , T ' . . ..' I_|_ v . ] e r I
b : - TR . T I T SN ol T S T ‘uﬂ"'—-..-._.-- a A i L AT A S R L AL T R 1} i .o A i
L . " . A I_._.f'_:._.- L L Y s, sy ..'l-..lh«: L. b aity Rl e :n n N . TR .’-."L""l_'--"'#u"ﬂ" AT, TR . I B
' ) ' - . LI it L .t - . ‘-\.: i " - L L et - P VT . Ik .
- D

plu_.rh

', ] ’ .
’ ! . H ._.lu
: ' ) oL IR . g L TN
\ . ' R, "'..i. e LY g Sy 1
. , - A L . e . neE ol
- A SR SRuLr S e
) T - LY " . LI T L Y
R . . . < ) : . ; f - s ! .I_I., < 2 TaiTE H'ﬁh'nu"l;'-!"!;"’x:‘
Ful . [ ] .
1 -, . r L T - - - LT | i 1 o - L P"I'i b o ‘I.- '\eﬁ . [
- . 1 ' . " -r - 8 . _— "’I. 1 . e gk, g ,1_'.,_ “_‘; .
! *- ! ! ! ' van . .1‘-‘.} Farsiag. w
. . - [ -, . - . - 1 - ra AL ';é_._l. i p
' 1 ' v - [ L] - | R - . " . p N, S
. L LN . ' L P - =, e '?'..l! Ly, e L '}
' .-t . . - . r- v,o- IS - Ca e g NN
1 1 r 1 . i . " ", . ':“. - — L] I " P :‘I.- _I o rl .I |'.i" . -'l-"_.."-‘. ‘F o "'r..:':
| H ' . i = r L] - - - - | ' ' 1= S Y
a N T f ¥ . y ST , II.. |" q!. 1{! _il. L r . -.... ' 1'||'|
Tt DT ' ' " B ' i U AR el T e Ly
o . - N v . ’ o . \ 1. L"'In v 4,: j e . ! i"u"."._ 3 '1'5_'_9. e
- r . v " 1 - - LI -I ' . - 5 - o - N, 'J... ,-I r-ﬂlf‘-..‘l - _t. e "I.""-"ﬁ‘":h:‘ ;., ,
- L H Vo T . E . N I-_ s ___:.-H'\- i 1 . A %__ I-n;-.'r.:-i-‘_ .'.'I.L"‘lf-\. rrr.". , 4
[ . [ . I : . o . J] . Fid o SERE -'l... ..l_. e *
r af . . ' ot T . P - o el
i . 1 . :_-.- 1“'..". o s g "_' II _'!'#1-.-"'_.-' r.-"l,‘.-;T i
- " . : . = .,- '. I'- ' 'y -_ .-_' __1. i r_I_I.:I-_ . 1l.'_- .
% . I i d . e G r 4 rn e a.”t';-* ':'-.
H - ! b, i R . T T - o
| - oL ! * ! 1 A Lol wa 4 " - W l"lf - L L
] 1 r ™ ". '“_Il ' r ' o _l-_‘:'. -_ I'.".I."_'
. . H . o . - PR I
. ' ' - : E T o N TR S
re N 1 | 1 o~ . LI PR S : .
! - L | ! . 1 * t f.\.* . ' B - v ¢ b
R - - o 1 AR . [, : 1 I-I
A - . T L
r . L .
- ) - roe T - '
- F] - L] ' . ' . _ -1
v b . P . .- “y _ .
- - . . 1
- . . ! - . ' ] . "



PELOBARILITY E)NAL = XA M

S0 oW
MAN U A
Do Salilh mani >
CAV\MCW\E} 15, Zﬂgq
~
W plyaye) o O ;
P( )"‘Y) o r-f = >\th h\‘“) = a ﬁ"th;*
(’—}5/)8
&) -4S5/
o) P(X3)=9) = ;
)e — S
b) %\ L»:LL \qu/mw{um\ -L\*m
._ VA oWl X poudalall Lo
| by P 4 ! A Sha Lv\-kd)
QT = (%) e L399 2ad £ 5 W k.




\ O
( 50\/ l°5 "-PB;
4 ({Oo G
. )P (=p)




PE\XW\oo\éiﬁoﬁ% PS{[X—-C«](G‘J-}}/\-L t
t"L
@-ﬂioo
RO
.06
1 1X-100) <30 5 PR
(1013133)3
s ) Ny X
> 0.2} (R S foTe 120
b -
) Pi{)(._.looldgol = P3 20 X L’lgo}m J(Do:.)%g _é?'gu(dx
130 10 o
( { X ‘-OOZ& - 0,01 X
oot) |- x € | 4 ge dx}
Lo 20
A = K - d/u et d, )( ~ T
- A - 3,0 &
‘""EJQ _OIL]
(Ooz-) %*lﬁo £ +20 ¢ - <-....i_. E_?’“ ~ 0,4 )
0.0 o - < )
)
(9.02. ~130 2" 59 -3, '""
(O:Ol) { — Z30 ‘_Q? ¢ —9.4
+ +0 @ }‘0842)G>OQ,8"}§
C> s e
d Ave C’OV’\(“)\/M’ P
2 o) <
Ajr 1% dX 13 5 = 0,317% L, DARIFEY:
1 A
\th‘"- Im —— -[ I-\W},E ?/_,} “:; COMAEDUuﬁm t_ 1 'S W\J/]'\/ﬂvxg
JZ 3 o s S Laileg
/7/ j““ i
e I —. tokd Pl | %
L AN RV
P() = PL2/x%) PUs) + (/7)) PUR) €
N 3




- P(X‘)*\-P(X;L} D (
. Xo ) — . _r
= P P’L__ P,} b') Pb@ r(\.X‘L‘) {(}f;)




	Probability_FIN_January_15_2009_p1.gif
	Probability_FIN_January_15_2009_p2.gif
	Probability_FIN_January_15_2009_p3.gif
	Probability_FIN_January_15_2009_p4.gif
	Probability_FIN_January_15_2009_p5.gif

